EARAROBREBRT —5 XN—ZXBISH—F

20224F585H (A) 40EH1E

NS C2— YS5R4mt B
[AXE%) 1 &:600,000 ~ 23#&:240,000 9  337%&:150,000 M  43#&:90,000H . 5 3&:60,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
- K : -1-1- - bizsE vl Gicl
W =500 4| g SN EN RN
RYUYRNRILT—/ B hONLU—F BER B
" ~, 2R 131, -4-3- . - XIBEE (FM)
) 3 | WILRIVEY T A — 409 en 1(33/14)9 4-4-3-3 | 38.9 4 528)3 e
RiIr—IUT7Y BV VY— piatie]
" » SNEF 132, -3-3- . - RFRR (BE
3lglo| FryIL—RIL 4 5 ) 1(352)7 3-3-3-4 |39.7 1 ?Jraf) Eﬁ%g( )
R:O-LILFL40 8:7RIATI2IL W& SHiS
v 4 | ALES 1:33.0 10-10-10-9 | 38.8 | — 9 | 487 |=EEBEZ (EH)
47|V AFILD=T ! 54.0 a1/ Ga) | W) Jr—2hEY3Y
R:O=ILRYY T B:RARY—HUR vy RI7—L4
< LLIEREER : -7-8- - WORE ()
5 NEZVESE:V, 5 e 1(.33/34.)1 6-7-8-8 | 39.7 10 :1_425) wo
RiTUF—Y BUFTA/FEF 2R RS
N . RERN : -8-9- - FHHEA (Fk)
618l10l k=9—FTF 1L it 4 s (1?.3;,% 8-8-9-10 | 39.3 8 ZTL?) pEE
RIFVIARNAN BT ATFAI HBI7—L
$ 4 5 | FLEEX 1:33.3 9-9-5-5 [39.9| - 7 485 | RFIE(E (BH)
7155 Z4—ILRE/7 56.0 (3/4) (7) | WAEL
R:O—-R7ILF«4X B:FFv/ 30494 e e ]
)= 5 | R 1:33.7 6-6-7-5 | 40.3| - 6 | 514 |EIEtE (EH)
8 2 | T7YZILY T« i 56.0 21/2) ) &) SWIP—L
R:koto20—-U— B:AYFT4D9F SWI7P—A
S H o9 | JIRE— 1:34.1 5-5-6-5 | 40.8| — 5 505 | EEFI— (T
9l7|8| 710X 57.0 212 (1) | &R
R:T4HO B:FITRRI—T TOERIS
M)~ s o4 | THE 1:34.3 1-1-1-2 | 41.5| — 2 | 466 |BEAEE (Fk)
1011 |7YYbRI— 56.0 3/4) (3 | BSEE
RiPISANIVE B:RU—LRT— EUFHAT7—L
@ 11— —BERIEI
13—7F— 1,6,9,3,8,(2,4),10,5,7
20— — (1,6),9,3,8,2,4,10,5,7
BEIES /S (1,6),(3,9,5,8,2,4,10,7
43— — 6,1,3,9,(2,5,8),4,7,10
0 ILRE
BB 6 4504 JA R 3-6 370 & 3-6 1,890 3ER 3-6-9 1,300/
B B 6 140 6-9 2204 o 18 3-6 1,870 3Es 6-3-9 9,810
3 2004 3-9 420M oS- 1 6-3 2,860
9 120

ABIC OV TRUTEREERRODDZE. THRIIZEL.




